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1. The most abundant gas in the earth's atmosphere:
A)  Oxygen B)  Nitrogen C) Hydrogen D)  Argon
2. The element present on lead pencils:
A)  Carbon B) Lead C) Boron D)  Phosphorous
3. The institution which is not exempted from providing information according to
the Right to Information Act, 2005:
A)  Intelligence Bureau (IB)
B)  Central Bureau of Investigation (CBI)
C) Indian Space Research Organization (ISRO)
D)  Narcotics Control Bureau (NCB)
4. The scientist who proposed the ‘theory of continental drift’:
A)  Charles Darwin B)  Alfred Wegener
) Charles F. Richter D)  George Gibbs
5. The Nobel Prize in Economic Sciences in 2023 was won by:
A)  Jean Tirole B)  Patrick Modiano
C)  Angus Deaton D)  Claudia Goldin
6. The final of the 2024 ICC Men’s Twenty20 Cricket World Cup was played between
South Africa and India at:
A)  Florida B)  Guyana C) Barbados D)  Nassau County
7. Who is the current union minister for education?
A)  Dharmendra Pradhan B)  Piyush Goyal
C)  Ashwini Vaishnaw D)  Jyothiradithya Scindia
g. The longest river within India:
A)  Saraswati B) Sindhu C) Ganga D)  Brahmaputra
9. The winner of the JCB Award, India's most valuable literature prize in terms of
the cash prize associated with it for the year 2023:
A)  Khalid Jawed B) Benyamin
C)  Perumal Murugan D) M. Mukundan
10.  The Information Technology Act was enacted in India in:
A) 2005 B) 2000 C) 2008 D) 2018
11.  The type of rays used to detect counterfeit currency notes:

A)  Infra-red B)  Laser C) Ultraviolet D)  Roentgen




12.

13.

14.

15.

16.

17.

18.

19.

20.

The district having the highest Scheduled Caste population in Kerala is:
A)  Palakkad B) Wayanad
C)  Idukki D)  Thiruvananthapuram

Fundamental Duties were incorporated in Indian Constitution through the -----

amendment.
INEER & B) 42 C) 44" D) 89"

What is the premium per annum of the accident death insurance scheme Pradhan
Mantri Suraksha Bima Yojana (PMSBY) started by the NDA government?
A) Rs. 100 B) Rs.330 C) Rs.12 D) Rs.200

Before becoming a part of Indian Union, Goa was under the control of the:
A)  French B)  Dutch C)  British D)  Portuguese

Identify the correct statements about the 4-year undergraduate programme
introduced in Kerala from 2024-25 onwards:
1. The four-year honours degree will be awarded to those who complete the
programme with a specific number of courses of 177 credits.
2. Students who aspire to pursue research as a career can opt for the honours with
research stream in the fourth year.
3. The programme gives students more flexibility in choosing subject combinations.
4. This system enables students to pursue three broad pathways — three-year degree,
four-year honours degree, and four-year honours with research degree.

A) 1&2only B) 3&4only C) 1,2&3only D) 1,2,3&4

Identify the mismatch between the prominent boat races in Kerala and
river/lake in which they are conducted.

A)  Aranmula Uthruttathi boat race — Pampa River

B)  Payippat boat race - Chambakkulam River
C)  Nehru Trophy boat race - Punnamada lake

D)  Sree Narayana Jayanthi boat race — Vembanad lake

Which of the following is an example of natural display of geothermal energy?
A)  Coal B) LPG
C) . Lava from volcano D)  Biomass

The first Indian to win gold medal at World Athletic Championship:
A)  Anju Bobby George B)  Neeraj Chopra
C) P TUsha D)  Mirabhai Chanu

The director of the film ‘2018’ based on the severe floods that devastated Kerala:

A)  Lijo Jose Pellissery B)  Basil Joseph
C)  Jude Anthany Joseph D) Dr. Biju
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22.

23,

24.
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26.

27,

28.

£9,

30.

Who of the following won 100 catches, 100 wickets, and 1000 runs for the first
time in the history of IPL tournament?

A)  Shane Watson B)  Glenn Maxwell
C)  Jacques Kallis D)  Ravindra Jadeja
The expansion of VVPAT is:

A)  Voter-Verifiable Paper Audit Trail
B)  Voter-Viewable Paper Audit Tracking
C)  Voter-Viewable Paper Audit Trail
D)  Voter-Verifiable Paper Audit Tracking

The transhipment terminal in the west coast of India other then Vizhinjam:
A)  Vallarpadam B) Mumbai C) Kandla D)  Mangalore

The longest muscle in the human body is:
A)  Glutens maximus B) Sartorius
)] Quadriceps D) Hamstrings

Red Data Book, the public document that is created for recording the
endangered and rare species of plants, animals, fungi etc. that are present in a
particular region is brought out by:

A)  World Resources Institute B)  Greenpeace

C) WWF D) IUCN

Justice K S Puttaswamy and Anther Vs Union of India and others is a case related to:
A)  Right to equality B)  Right to religious freedom

C)  Right to privacy D)  Right against discrimination

Present Chairman of the Law Commission of India:

A)  Justice B S Chauhan B)  Justice Ritu Raj Awasthi

C)  Justice Sanjiv Khanna D)  Justice Arun Kumar Mishra

Who among the following said part III and part IV together constitute the
“Conscience of the Constitution™?

A)  Justice VR Krishnalyer B)  Dr. B R Ambedkar

C) Granville Austin D)  Justice Subba Rao

Which following commission report was questioned in Indra Sawhney Vs
Union of India Case?

A)  Varma Commission Report

B)  Venkatachalliah Commission Report

C)  Justice V R Krishna Iyer Commission Report

D)  Mandal Commission Report

Present Chairperson of National Human Rights Commission:
A)  Justice K M Joseph B)  Justice Arun Kumar Mishra
C)  Justice HL Dattu D)  Justice Madan B Lokur
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32.

CER

34.

335.

36.

37.

38.

39.

The judge/s of the Supreme Court who held that “To build a welfare state as
provided in part IV of the Constitution is a basic feature of the Constitution™:

1. Justice Shalet 2. Justice Grover
3. Justice Hegde 4. Justice Khanna
A) 1 only B) 2&3 only C) 1,2&3 only D) 1,2,3&4

On the 26™ of January 1950, “ We are going to enter into a life of Contradictions. In
politics we will have equality and in social and economic life we will have inequality”.
The above statement was made by:

A) BNRao B)  C Rajagopalachari
0 Jawaharlal Nehru D) B R Ambedkar

The Indian Penal Code (IPC) was repealed and replaced in December 2023 by:
A)  Bharath Nyay Sanskriti

B)  Bharatiya Niyama Samhita

C)  Bharatiya Nyaya Sanhita

D)  Bharathiya Brahath Nyaya Sanhita

Match List I with List II

ListI (Case) List IT (Chief Justice)
a. Chandra Kumar Vs Union of India 1. Subharwal

b. Coelho Vs State of Tamil Nadu 2. Ahamdi

c. ADM Jabalpur Vs Shivakant Shukla 3. Raj

d. Minerva Mills Case 4. Chandrachud

A) a-1, b-2, ¢-3, d-4 B) a-2, b-1, ¢-3, d-4

C) a-2, b-1, c-4, d-3 D) a-3, b-4, c-2, d-1

Article 14 of the Constitution of India drew its inspiration from the ----
amendment of the American Constitution.
A)  Fourteenth B)  Thirteenth C)  Fifteenth D)  Sixteenth

The word socialism was introduced into the preamble of the Constitution by
the 42" amendment during the regime of India Gandhi along with the word:
A) Democracy B) Secularism C)  Republic D)  All of these

Who described the Directive principles as “Instruments of instructions to the
legislature and the executive”?

A)  Jawaharlal Nehru B) BNRao

C) BR Ambedkar D)  Sardar Vallabhai Patel

An agreement which is enforceable by law at the option of one part of:
A)  Valid Contract B)  Void Contract

C)  Voidable Contract D)  Illegal Contract

“Neither Roses Nor Thorns” is the autobiography of:
A)  Justice VR KrishnaIyer B)  Justice H R Khanna
C)  Justice Bhagwati D)  Justice K M Mathew
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41.
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44,

45.

46.

47,

48.

49,

Electoral Bonds scheme was declared unconstitutional in:

A)  Advocates on Record Vs Union of India

B)  PUCL Vs Union of India

0] Association for Democratic Reforms Vs Union of India
D)  Human Rights watch Vs Union of India

‘Roscoe Pound’ propounded the theory of Social engineering, which means:
A)  Greatest happiness to greatest number of people

B)  Balancing of competing interests in society

C)  Charges in the concept and function of the state

D)  The law has its source in the general consciousness

“God Save the Hon’ble Supreme Court” is a book written by:
A)  Adv. Fali S Nariman B)  Adv. Nani Palkivala
C)  Prof. G Mohan Gopal D)  Prof. N R Madhava Menon

Identify the incorrect statement?

A)  Coercion renders a Contract Voidable

B) Undue influence renders a Contract Voidable

53 Fraud renders a Contract Voidable

D)  Mistakes of Indian law renders a Contract Voidable

Who defined jurisprudence as “the knowledge of things, human and devine and
science of the just and unjust™?

A) Kant B)  Hegel C) Ulpain D)  Keeton
“The Indian Constitution, Cornerstone of a Nation” is a book by:

A)  Granville Austin B) VR Krishna Iyer

C) O Chinnappa Reddy D)  Justice Varma

The meaning of the term ‘Volksgeist’ in law:
A)  Spirit of the people B)  Anthropological approach
C)  Rule of the recognition D)  All of these

The first Indian High Court judge to be punished for contempt while in office
but was arrested and jailed after retirement:

A)  Justice Chittarenjan Das B)  Justice K Chandru

C)  Justice C S Karnan D)  Justice Mathivanan

Who said “Law is not a set of rules, but is a method or technique for
harmonizing conflicting social interests?”

A)  Kelsen B)  Bentham C)  Ehrlich D)  Roscoe Pound

When the consent of parties to the contract is caused by coercion, the contract
under section 19 is ----.
A)  Valid B) Void C)  Voidable D)  Illegal
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50.  “The Court and The Constitution™ is a book written by:
A)  Justice Chandrachud B)  Justice O Chinnappa Reddy
C)  Justice Das D)  Justice Raghunandan Swarup Pathak

Questions 51- 60. Read the passage and choose the most appropriate answer from the
options provided to answer the questions/fill in the blanks.

Every day, hundreds of people around the world have to leave their homes and look
for a new, safe place to live. About half of these people are children. World Refugee
Day, on 20 June every year, is a day to support refugees, learn about and understand
their problems, and celebrate their strength and courage.

A refugee is someone who has to leave their home country because they aren't safe
there. This may be because of war and violence. It could also be that they are treated
unfairly and cruelly because of their race, religion or political beliefs. Some people
have to leave their homes because of climate change and natural disasters like
droughts or floods.

When refugees leave their homes, they often have to go on very long and dangerous
journeys. Some walk for many days, others travel by lorry, car or boat, and many don't
have enough food or water for the journey. Sadly, a lot of refugees don't reach their
final destination.

When refugees arrive in a safe country, they can ask for permission to stay in the new
country. People who are waiting to get permission to stay are called 'asylum seekers'.
A lot of people have to live in refugee camps while they are waiting. A camp is often
like a giant city of tents, with thousands of people living in it. People can get food,
clothes and medical help, and some camps even have schools. But many camps are
too full, and conditions for refugees can be very bad.

The United Nations started World Refugee Day in 2001. Lots of events take place all
around the world to celebrate this special day. Some cities light up their landmarks in
blue to show their support for refugees. Others have concerts, art exhibitions or food
festivals. In many places, there are charity walks, runs, swims and bike rides to raise
money for refugees. Walking or running a long way helps us understand how far some
refugees have to travel.

Many children learn about the refugee crisis at school and do special projects, for
example finding out about someone famous who is or was a refugee. There are lots of
different ways to get involved in World Refugee Day! What will you do?

51.  The word ‘refuge’ refers to a ---- of safety.
A)  time B)  place )] fear D) lack

52.  Arefugee is a person who ---- refuge.
A)  seeks B) speaks ) stakes D)  stays

53.  Among refugees, there are as ---- children as adults.
A) few B) full )] any D)  many

54.  World Refugee Day was ----by the United Nations.
A)  instituted B) instigated  C) instructed D)  inserted
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55.

56.

57.

58.

59.

60.

The word/phrase in the passage that refers to a prolonged lack of rain and water:

A)  flood B) cityoftents C)  drought D)  climate change
The journeys of refugees are usually:

A)  hazy- B) hazardous C)  weedy D)  wordy

The ‘final destination’ mentioned in the passage is:

A)  Therefugee camp B)  The asylum

C)  The safe country D)  The next world

Most refugee camps are:
A)  Underpopulated B)  Overpopulated
C)  Moderately populated D)  Almost empty

World Refugee Day is celebrated as a show of support for:

A)  The United Nations B)  The home countries of the refugees

C)  The host countries D)  The refugees

The passage invites ----to get involved in the observance of World Refugee Day.
A)  refugees B)  schools

C)  famous people D)  the readers

Questions 61-67: Fill in the blanks, choosing the most appropriate of the options provided:

61.

62.

63.

64.

65.

66.

67.

68.

69.

“I have no interest in ----- mathematics.”
A) a B) an C) the D)  None of these

“He was our Prime Minister once, ----- ?
A) isn’tit B) isn’the C) wasn’the D) wasn’tit

“I told her that she was-----."
A)  mistaked B)  mistaken C) mistaking D)  mistook

“One of our students ----- joined the army.”

A) s B) are C)  has D)  have
“There is no ------ why he should be absent.”

A)  right B)  reference C)  reason D)  regulation

“Can you look-----my child while I'm away?”
A) for B) on C) at D)  after

A lot of my friends ----- to study abroad.
A)  want B)  wants C) are wanting D)  were wanting

The sentence, “I am afraid that’s true” expresses:
A)  fear B)  fright C)  regret D)  reproach

Pick the correctly spelt word:
A)  Sieze B) Scone O Sverve D)  Sueide
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70.

71.

72.

73.

74.

75.

76.

71.

78.

79.

Pick the part of the sentence that contains an error, or pick ‘D’ to indicate there
is no error in it:

It was
A)

a very dangerous thing to do.
B) C) D) (No error)

To ‘bring someone to book’ means:

A)

C)

To take them to school B)  To punish them
To make them read D)  To take them to the library

Rearrange the words (numbered 1-8) in the logical order of a sentence:

that sweet love makes the bitter is which
1 2 3 4 5 6 7 8

A) 24568713 B) 34287156
C) 53146872 D) 37184562
Pick the incorrectly spelt word:
A)  Weird B) Ventricle )] Walkathon D)  Veinglorious
The best response to the instruction, “Put your books away, please”:
A)  “I’ve already.” B)  “I’ve already done.”
C)  “I’ve already done it.” D)  “T’ve already done so.”
Rearrange the following sentences in the logical order of a paragraph:
1. The beauty of his face seemed not just human, but divine.
2. Arul was equally fond of her.
3. The women of the household used to kiss him so often that his cheeks grew red.
4. Sundara Chozhar’s children were all very handsome.
5. He would do nothing against his sister’s wishes, not even if it was a request
from his parents.
6. The youngest, Arulmozhivarnan, surpassed the others.
& But the one who loved him most was his older sister Kundavi, who felt wholly
responsible for him.
A) .6,51,3,.7624 B) 4,6,1,3,7,2,5
C) 1,4,3,2,7,5,6 D) 4,5 1,6,7,3,2
The value of the square root of (1.12 + 0.12 + 0.5% +0.7%) is:
A) 1.96 B) 1.2 0) 1.4 D) 1.69
Which of the following numbers has its square root is thrice its cube root?
A) 216 B) 484 C) 64 D) 729
V75-+3
The value of T
5
A) % B) 2 ) g s

5. 7
What percentage of =gz ?

A)

120% B) 125% C) 196% D) 149%
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80.

81.

82.

&3.

84.

85.

86.

87.

88.

89.

90.

If ‘m’ is a positive integer greater than 1, then the highest deviser of m3 — m always is:

A) 6 B) 12 Cc) 4 D) 8

The arithmetic mean of 10 consecutive integers is 5.5. Then the sum of squares
of the integers is:
A) 555 B) 385 C) 555 D) 385

An online sales counter, on the first day of a week sold items for Rs. 20000, on the
second day 20% more than the collection of the first day and on the third day 80%
of the total collection of the first two days. What is the average collection per day
during these three days?

A) Rs.26000 B) Rs.25800 C) Rs.28200 D)  Rs.26400

A person bought an article and sold it at a gain of 10%. If he had bought it at 10%
less and sold it for Rs. 20 less he would have made a profit of 20%. Then the cost
price of the article is:

A)  Rs.1000 B) Rs.500 C) Rs.900 D) Rs. 1100

The present population of a city is 40000. If the number of males increases by 5%
and the number of females increases by 6%, the population becomes 42210 after a
year. How many males are there at present?

A) 21000 B) 19500 C) 19000 D) 20500

Which of the following numbers is the smallest number which is completely
divisible by all even numbers from 1 to 20?
A) 5040 B) 2520 0) 1260 DY 517720

Two liters of a mixture contains kerosene and petrol in the ratio 2:3. To prepare a
new mixture containing kerosene and petrol in the ratio 3:2, how much more
kerosene should be added?

A) 1.2 litres B) 0.6 litre O 0.8 litre D) 1 litre

A boat travels upstream at a speed of 40 km/hr. for an hour and returns to the jetty. If
the average speed of the entire trip has been 60km/hr, what is the speed of the stream?

A) 30 B) 40 Cc) 20 D) 25

Two pipes A and B can fill a tank in 4 and 6 hours respectively. If they are opened
for one hour each alternatively starting with pipe A, when will the tank be full?

3 1 3 1
A) 3 I hrs B) 3 3 hrs C) 4 3 hrs D) 42 hrs

A man travelled from A to B at the rate of 30 km per hour. Had he travelled at the
rate of 20 km per hour he would have taken 3 more hours to reach the destination.
What is the distance between A and B?

A) 210km B) 220km C) 240km D) 180 km

If 1 man or 2 women or 5 children can do a job in 10days In how many days can 1
man,1 woman and 2 children do the same job?

A) 5% days B) Si days 0) 4% days D) 4% days

9 24029 - A




91. Complete the series : 0, 12, 48, | 240, 420
A) 120 B) 96 O 192 D) 156

92.  Complete the series : 26AZ1, 24CX9, ,20GT49
A) 22DV25 B) 22EV25 O 22EV16 D) 22DV16

93.  Some letters of the series ““a_a ca bc bb ¢ “ are missing which are given in
that order as one of the alternatives given below. Choose the correct alternative.

A)  cbbba B) cbbaa C)  cbbab D)  abbba

94.  The positions of how many letters in the word “RELATION: will remain
unchanged when the letters within the word are arranged alphabetically?

A) 0 B) 1 C) 2 D) 3
Read the following and answer questions 95 and 96.

Five children A, B, C, D and E play a game of cards. Each has 10 cards. A borrows 6 cards
from D and gives away 3 to B who in his turn gives 4 to C, while C gives 2 to E and E gives
3 cards to A.

95. How many cards does A have?

A) 12 B) 13 C) 19 D) 16
96. How many cards does E have? .
A) 12 B) 9 )] 10 D) 16

97.  Five students took part in a race. A finished before B but behind C. D finished
before E but behind B. Who won the race?

A) C By D C) B D) A
98. Find the missing number
2 3 4
3V3- &/ £ A
A) 13 B) 11 C) 24 D) 15

99.  In a family there are 4 men with their sons, 12 men with their fathers, and 9 men with
their grand fathers. How many men are present if all fathers have 3 sons?
A) 13 B) 9 C) 10 D) 12

100. A person observed that the time in the mirror image of his clock is 8 hours 30 minutes.
What is the actual time shown by the clock?
A) 7 hours 30 minutes B) 2 hours 30 minutes
C) 3 hours 30 minutes D)  None of these
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